A2

He said, 'lt is raining outside.’
Answer:

She said, 'l am feeling hot.’
Answer:

They said, 'We are going to the beach.'
Answer:

He said, 'lt was snowing yesterday.'
Answer:

She said, 'l don't like the rain.'
Answer:

They said, 'We went to the park.'
Answer:

He said, "It will be cloudy tomorrow.’
Answer:

She said, 'l am not enjoying the heat.’
Answer:

They said, 'We have been swimming.'
Answer:

He said, 'It might rain later.’
Answer:




Answers

He said, 'lt is raining outside.’

Answer: He said that it was raining outside.

She said, 'l am feeling hot.’

Answer: She said that she was feeling hot.

They said, 'We are going to the beach.'

Answer: They said that they were going to the beach.

He said, 'lt was snowing yesterday.'

Answer: He said that it had been snowing yesterday.

She said, 'l don't like the rain.'
Answer: She said that she didn't like the rain.

They said, 'We went to the park.'
Answer: They said that they had gone to the park.

He said, "It will be cloudy tomorrow.’

Answer: He said that it would be cloudy tomorrow.

She said, 'l am not enjoying the heat.’

Answer: She said that she was not enjoying the heat.

They said, 'We have been swimming.'

Answer: They said that they had been swimming.

He said, 'It might rain later.’

Answer: He said that it might rain later.



